March 12th

5-a-day

Numeracy

What type of angle is shown?

Relex

A cinema ticket costs £4

11:%%

How much mjore ﬂoney is needed?
4 %30
i3

£ 3

Given 26 x 142 = 3692

What is 260 x 1427

(A0

What is 26 x 1.427

CYSLES

Calculate 10°

10x\0) x\0
(000

Calculate V16

U

A bus holds 32 passengers.

150 people want to go on a bus trip.

T 129
1%
o 160

How many buses are needed?

o)

How many empty seats will there

be? \ O
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Calculate the area

Tx3
\q;g-ql+cn*

Factorise Expand

10y - 15 3 4(3w + 1)
5(ty3 PORLY

Increase 4 million by 5%

¢, 000, 600 L,200,000

0% = 400,009
5Y. = 9'00)000

Write 82 as a product of primes g—i
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Higher

A straight line has gradient 4 and
passes through (0,2).

Write down its equation

y= by +2

Aline has equationy = 3x + 1

Write down the coordinates of any two
points on the line.

(,7) (3,i0) &

Calculate angle BAC

= 3
Cos & <3

9= 3.7

Solve'
Ox* +29x -28 =0

(“ -7 XXI—&\‘—O
125 A=¢

A mountain is losing 5% of its snow
each year.

What percentage of its original will be
left after 10 years?

00 ¥ 0-35 v
gq '8?-‘/0

l-\.- Sfrl'—"‘{
1 2 3 4>

Write down the equation of a line

perpendicular to this line that passes
fRrough (0,5) 3‘." - g\

4= gy+S




